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Quiz: The Quadratic Formula

Question 1a of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 90968 )

Maximum Attempts: 1

Question Type: Multiple Response

Maximum Score: 2

Question: Select the two values of x that are roots of the given polynomial below.
x2 +3x-5

Correct Answers:

Choice
A |x= ol
B X = a- ~|,—|'
_i I-_,”-|
X = -l']..
D. |x sl
E X = -1+ .,1"1
X i -,l'?

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answers are:

X = and x =

Question ib of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 297743 )

Maximum Attempts: 1

Question Type: Multiple Response

Maximum Score: 2

Question: Select the two values of x that are roots of the given polynomial below.
x2 +3x+5

Correct Answers:
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Choice
X = a4
—“.—31'—11
X:
2
c |x= 7 ¥
b. [xo 3 4
E. |x= Fii_JI
A
N _.f)q

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answers are: x =

-7 - _‘JJ‘PT

Question 1c of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 297744 )

Maximum Attempts: 1

Question Type: Multiple Response

Maximum Score: 2

Question: Select the two values of x that are roots of the given polynomial below.
x2-3x-5

Correct Answers:

Choice
A. |x=
B. |x=
C. |x=
*D.|x =
*E. | x =
F. |x=

Attempt| Incorrect Feedback

1st
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Correct Feedback

Global Incorrect Feedback

—_—

CIN T

e

[

The correct answers are: x = = ¥=- and x =

Question 2a of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 90969 )

Maximum Attempts: 1

Question Type: Multiple Response

Maximum Score: 2

Question: Select the two values of x that are roots of the given polynomial below.

2x2 - 11x + 15

Correct Answers:

Choice
A =T -1
B M2
2
=
p. [y 11- 0
' 7
=
Foo |y = Dty -0

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answers are: x = 2.5 and x = 3.

Question 2b of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 297746 )

Maximum Attempts: 1

Question Type:
Maximum Score:
Question:

Correct Answers:
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2

Select the two values of x that are roots of the given polynomial below.

2x2 +7x + 6
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Choice
A. |x= foal 1
-
C x=_'r'\'['1rq
D X=" JE 1
[
F X='-’—\.'F.I

Attempt| Incorrect Feedback

Correct Feedback

Global Incorrect Feedback

The correct answers are: x = -2 and x = -1.5.

Question 2c of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 297747 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

Correct Answers:

1

Multiple Response

2

Select the two values of x that are roots of the given polynomial below.

2x2 + 11x + 15

Choice
x =-2.5

B. |x< 1-|-.r'3'1
C. |x=

D. |x=

*¥E.|x =-3

F X =

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answers are: x = -2.5 and x = -3.
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Question 3a of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 90970 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

Correct Answers:

1
Multiple Response
2

Select the two values of x that are roots of the given polynomial below.

x2 -5x 42

Choice
A. _3
X_!_I—.‘II_'
X_!—|+,‘||?
D. |[x=5
E X = T
I
N e
"1

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answers are:

.I._l EJ_ Il‘lT
X = f and x= ——> |

= <

Question 3b of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 297748 )

Maximum Attempts: 1

Question Type: Multiple Response

Maximum Score: 2

Question: Select the two values of x that are roots of the given polynomial below.
x2 +5x + 7

Correct Answers:
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Choice
A |x--1
B X = _|—4LII-."
2
C X = |+_"||"r
2
D. |[x=5
- lr"‘
X = "’
X = '—'H‘{ i

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answers are: x =

—_—

ST
: .

and x =

Question 3c of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 297749 )

Maximum Attempts: 1

Question Type: Multiple Response
Maximum Score: 2

Question:

X2 +5x-7

Correct Answers:

Choice
A.
*B.|x =
*C.|x =
D. |[x=5
E X =
F. |x=

Attempt| Incorrect Feedback

1st

Correct Feedback
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Select the two values of x that are roots of the given polynomial below.

6/11/2012



This versionl of Total HTML Converter is unregistered.

Alg

Global Incorrect Feedback

[
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The correct answers are: x = and x =

Question 4a of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 90971 )

Maximum Attempts: 1

Question Type: Multiple Response

Maximum Score: 2

Question: Select the two values of x that are roots of the given polynomial below.
3x2 + 8x -3

Correct Answers:

Choice
X =-3

B_ X=m

D U_J?
X = —
b
X=Tl
a
F X_'_i+.1'|

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answers are: x = -3 and x =

Question 4b of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 297750 )

Maximum Attempts: 1

Question Type: Multiple Response

Maximum Score: 2

Question: Select the two values of x that are roots of the given polynomial below.
3x2 +20x -7

Correct Answers:
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Choice
x=-7
V)
X = —
X ==
- -TE
D. |x= —
-1 a0y
E. |[x= __'
R
F. |x= ki

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

I
The correct answers are: x = -7 and x = .

Question 4c of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 297751 )

Maximum Attempts: 1

Question Type: Multiple Response

Maximum Score: 2

Question: Select the two values of x that are roots of the given polynomial below.
3x2 + 11x - 4

Correct Answers:

Choice
x=-4
B. |x=
C. |x=
D. |x=
*¥E.|x =
F. |x=

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answers are: x = -4 and x =
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Question 5a of 15 ( 2 Using The Quadratic Formula to Solve Quadratic Equations 90972 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: The polynomial given below has _____ root(s).
2x% + 3x -2
Choice Feedback

two positive

two negative

two complex

one positive and
one negative

BT

T

Global Incorrect Feedback

The correct answer is: one positive and one
negative.

Question 5b of 15 ( 2 Using The Quadratic Formula to Solve Quadratic Equations 297752 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

1
Multiple Choice
2

The polynomial given below has _ _ root(s).

2x2 +2x + 4

Choice

Feedback

A. |two positive

B. |two negative

- two complex

one positive and
one negative

Global Incorrect Feedback

The correct answer is: two complex.

Question 5c of 15 ( 2 Using The Quadratic Formula to Solve Quadratic Equations 297754 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

1
Multiple Choice
2

The polynomial given below has root(s).

2x2 +5x + 2

Choice

Feedback

*A.|two negative

B. |two positive

one positive and
one negative

D. |two complex

Global Incorrect Feedback

The correct answer is: two negative.

C:\Documents and Settings\humbertoo\My Documents\Doom\Algebra I-B sem 2\3.5.4.mht

6/11/2012



This version of Total HTML Converter is unregistered.

Alg

Question 6a of 15 ( 2 Using The Quadratic Formula to Solve Quadratic Equations 90973 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

1
Multiple Choice
2
The polynomial given below has _____ root(s).
3x2 -8x + 4
Feedback

two negative

one positive and
one negative

Choice

two positive
B.
C.
D

two complex

Global Incorrect Feedback

The correct answer is: two positive.

Question 6b of 15 ( 2 Using The Quadratic Formula to Solve Quadratic Equations 297753 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

1
Multiple Choice
2
The polynomial given below has _ _ root(s).
2x2 -3x +1
Feedback

Choice
two positive

one positive and
one negative

C. |two negative

D. |two complex

Global Incorrect Feedback

The correct answer is: two positive.

Question 6¢c of 15 ( 2 Using The Quadratic Formula to Solve Quadratic Equations 297755 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: The polynomial given below has _____ root(s).
2x2 -9x + 9
Choice Feedback

*A.|two positive

B. |two negative

one positive and
one negative

D. |two complex

Global Incorrect Feedback

The correct answer is: two positive.
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Question 7a of 15 ( 1 Using The Quadratic Formula to Solve Quadratic Equations 121113 )
Maximum Attempts: 1

Question Type: Numeric Fill In Blank

Maximum Score: 2

Correct Answer: 0

Question: The quadratic formula cannot be used to solve an equation if the coefficient of

the equation's x2-term is

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 0.

Question 7b of 15 ( 1 Using The Quadratic Formula to Solve Quadratic Equations 297756 )

Maximum Attempts: 1

Question Type: Numeric Fill In Blank

Maximum Score: 2

Correct Answer: 0

Question: The quadratic formula cannot be used to solve an equation if the coefficient of

the equation's x2-term is

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 0.

Question 7c of 15 ( 1 Using The Quadratic Formula to Solve Quadratic Equations 297757 )

Maximum Attempts: 1

Question Type: Numeric Fill In Blank

Maximum Score: 2

Correct Answer: 0

Question: The quadratic formula cannot be used to solve an equation if the coefficient of

the equation's x2-term is

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 0.

Question 8a of 15 ( 1 Using The Quadratic Formula to Solve Quadratic Equations 121263 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: If the discriminant of an equation is positive, which of the following is true of

the equation?
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Choice

Feedback

It has two complex
solutions.

It has one real
solution.

It has two real
solutions.

Global Incorrect Feedback

The correct answer is: It has two real solutions.

Question 8b of 15 ( 1 Using The Quadratic Formula to Solve Quadratic Equations 297758 )

Maximum Attempts:
Question Type:
Maximum Score:

1

Multiple Choice

2

If the discriminant of an equation is positive, which of the following is true of

Question:
the equation?
Choice Feedback
A It has two complex
" |solutions.
B. It has one real

solution.

It has two real
solutions.

Question 8c of
Maximum Attempts:
Question Type:
Maximum Score:

Global Incorrect Feedback

The correct answer is: It has two real solutions.

15 ( 1 Using The Quadratic Formula to Solve Quadratic Equations 297759 )
1

Multiple Choice

2

If the discriminant of an equation is positive, which of the following is true of

Question:
the equation?
Choice Feedback
It has one real
A. -
solution.
xg, |1t has two real
solutions.
C It has two complex
" |solutions.

Question 9a of
Maximum Attempts:
Question Type:
Maximum Score:
Question:

Global Incorrect Feedback

The correct answer is: It has two real solutions.

15 ( 1 Using The Quadratic Formula to Solve Quadratic Equations 121264 )
1

Multiple Choice

2

If the discriminant of an equation is 0, which of the following is true of the
equation?
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Choice

Feedback

A. -
solutions.

It has two complex

It has one real
solution.

It has two real
solutions.

Global Incorrect Feedback

The correct answer is: It has one real solution.

Question 9b of 15 ( 1 Using The Quadratic Formula to Solve Quadratic Equations 297760 )

Maximum Attempts:
Question Type:
Maximum Score:

1

Multiple Choice

2

If the discriminant of an equation is 0, which of the following is true of the

Question:
equation?
Choice Feedback
A It has two complex
" |solutions.
B. It has two real

solutions.

It has one real
solution.

Question 9c of

Maximum Attempts:
Question Type:
Maximum Score:

Global Incorrect Feedback

The correct answer is: It has one real solution.

15 ( 1 Using The Quadratic Formula to Solve Quadratic Equations 297761 )
1

Multiple Choice

2

If the discriminant of an equation is 0, which of the following is true of the

Question:
equation?
Choice Feedback
xp, |1t has one real
solution.
B It has two complex
" | solutions.
C. It has two real

solutions.

Global Incorrect Feedback

The correct answer is: It has one real solution.

Question 10a of 15 ( 1 Using The Quadratic Formula to Solve Quadratic Equations 121265

)

Maximum Attempts:
Question Type:
Maximum Score:
Question:

1
Multiple Choice
2

If the discriminant of an equation is negative, which of the following is true of
the equation?
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Choice Feedback

It has two complex
solutions.

Correct!

It has one real
solution.

It has two real
solutions.

Global Incorrect Feedback

The correct answer is: It has two complex
solutions.

Question 10b of 15 ( 1 Using The Quadratic Formula to Solve Quadratic Equations 297762

)

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: If the discriminant of an equation is negative, which of the following is true of
the equation?

Choice Feedback
A. It has one real

solution.

It has two complex
solutions.

It has two real
solutions.

Global Incorrect Feedback

The correct answer is: It has two complex
solutions.

Question 10c of 15 ( 1 Using The Quadratic Formula to Solve Quadratic Equations 297763 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: If the discriminant of an equation is negative, which of the following is true of
the equation?
Choice Feedback
A It has two real
" |solutions.
B It has one real
" | solution.
xc, | It has two complex
solutions.

Global Incorrect Feedback

The correct answer is: It has two complex
solutions.
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Question 11a of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 121267
)

Maximum Attempts: 1

Question Type: Numeric Fill In Blank

Maximum Score: 2

Correct Answer: 0

Question: Find the discriminant of the following equation.

4x2 + 12x 4+ 9

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 0.

Question 11b of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 297764

)

Maximum Attempts: 1

Question Type: Numeric Fill In Blank

Maximum Score: 2

Correct Answer: 0

Question: Find the discriminant of the following equation.

9x2 + 12x + 4

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 0.

Question 11c of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 297765 )

Maximum Attempts: 1

Question Type: Numeric Fill In Blank

Maximum Score: 2

Correct Answer: 0

Question: Find the discriminant of the following equation.

4x2 + 16x + 16

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 0.
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Question 12a of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 121268
)
Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: What is the solution to the following equation?
4x2 +12x+9=0
Choice| Feedback
A. |2
c. |=
D. |

Global Incorrect Feedback

The correct answer is:

ral

Question 12b of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 297766

)
Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: What is the solution to the following equation?
9x2 + 12x+4 =0
Choice | Feedback
A |2
A
B. -
c. |-
*D.

Global Incorrect Feedback

The correct answer is:

Question 12c of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 297767 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: What is the solution to the following equation?

4x2 + 16x + 16 =0
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Choice| Feedback
-2
B. |4
c. |2
D. |-

Global Incorrect Feedback

The correct answer is: -2.

Question 13a of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 121274

)

Maximum Attempts:
Question Type:
Maximum Score:
Correct Answer:
Question:

1

Numeric Fill In Blank

2

-24

Find the discriminant of the following equation.

X2 4+2x+7=0

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: -24.

Question 13b of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 297768

)

Maximum Attempts:
Question Type:
Maximum Score:
Correct Answer:
Question:

1

Numeric Fill In Blank

2

-23

Find the discriminant of the following equation.

x24+3x+8=0

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: -23.

Question 13c of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 297769 )

Maximum Attempts:
Question Type:
Maximum Score:
Correct Answer:
Question:

1

Numeric Fill In Blank

2

-28

Find the discriminant of the following equation.

X2 +2x+8=0

C:\Documents and Settings\humbertoo\My Documents\Doom\Algebra I-B sem 2\3.5.4.mht 6/11/2012



This version of Total HTML Converter is unregistered.

Alg

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: -28.

Question 14a of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 121275

)

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: What is the solution to the following equation?
X2 +2x+7=0

Choice |Feedback

A. |6

B. |-6

c _2 J. \."?

B

Global Incorrect Feedback

The correct answer is: "4/ ki .

Question 14b of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 297770

)
Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: What is the solution to the following equation?
X2 +4x+7=0
Choice Feedback

A. |3

B. |-3

C.

*D.

Global Incorrect Feedback

The correct answer is:

Question 14c of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 297771 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: What is the solution to the following equation?

X2 +2x+6=0
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Choice Feedback
A. |5
B. |-5
e | 25

Global Incorrect Feedback

The correct answer is: -~ 4 -f-1 .

Question 15a of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 121288

)
Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Find the roots of the polynomial below.
2x%2 - 8x + 3
Choice Feedback
o h,'g
-Z +1' and
A. t
_a- .,1":;

B. |[x=4andx=2
C. |[x=10andx =4

S+ |'1|__|

Global Incorrect Feedback

: 4 1
The correct answer is: x = iy and x =

Question 15b of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 297772

)

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Find the roots of the polynomial below.

3x2 -8x + 3
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Choice Feedback
L=
5 M and
b
A. 1o
h
B. |[x=4andx=2
C. |x=20and x =8

Global Incorrect Feedback

and

. 4
The correct answer is: x =

Question 15c of 15 ( 3 Using The Quadratic Formula to Solve Quadratic Equations 297773 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Find the roots of the polynomial below.
2x2 - 9x + 3
Choice Feedback
SN and
4
F|

B. |[x=8andx=2
C. | x=9and x =18

.
Loz J:"U and

Global Incorrect Feedback

The correct answer is: and
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